fyra brak, decimaler, ordningsfoljd med parenteser

namn: Datum: Poéng:

4,9%x6+3-52,5+2,7) =

1 3 2
4,2—-4 + ) = - +3-92(2.5+ Z)=
246,34 3) 7797372251 %)
2,6+4(4,3-2,2)= (1_§)X5+§:
2 5 5
(4,5+4,4)x 4-2,3 = (1_1)X3_1:
4 2 4
3X8*4—5(3—55)= 42><8;2—3(1+48)=
2 5 7 ’ ' 4 7
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fyra brak, decimaler, ordningsfoljd med parenteser

namns:

(3,5—%)><2+%=35—1=6%

4,2 —4(3,3 + %)=(—33_1)=(—10%)
2,6 +4(4,3-2,2)=11
(4,5+4,4)x 4-2,3 = %233%
%XS+4—5(§—5,5)= 52—5 =27%

Datum: Poéng:

81 1
4,9x6+3-52,5+2,7) = (-5)= (-165)

3 2 71 11
2 x9+3-2(2,5+2)= (=) = (3=

13 2 1
—_ — + - = (——
G733+ 5=0)

el

1 1
G727

1 33 13
4,2x8+2-3(;+4,8) = 55 = 15
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